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(Obicetive)

Time: 15 mins.
Choose the correct answer from the following:

1. The real part of the complex number (=2 (1 = i) will be?

a |l b. 2

[ d. -1
2. HWz=¢""thenz+ l 15

a2sinfl b.2cosé@

c. 2sin2# d.2 cos 29
3. Ihe real part ol V2ot will be

a2 by =2

c. | . -1

A0tz = V2(=1+ ), then its modulus will be

202103

SET
A

Full Marks: 35

Marks: 10
IXI10=10

a. -1 b. 1
c. 2 . =2
s V4t " "

I he smallest value ol i tor which (l ‘) = Il is

a0 h.2

c. d o
6 Jhevalue of e ' oowill be?

a1 b. —i

Ca -1
7. Thevalue ot 147 4s

ai b, —i

G il d. =1
8. The square of (1 -+ ) will be

a. 2 bh.-2

c. —2i d. 2i
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9. ‘Jhe complex number x for w

a. '@
e s~

10. The inversc of (1 4+ i) will be
at+)

c.%(—f +)

£ . 7 f .
hichx +7= ZCOS(?) is

b. e ¥

d. e?®
bl =)
d, el +3
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[ l)escrigtive]

Time: 1 hr. 15 mins, Marks: 25

[ Answer question no.1 & any two (2) from the rest |

5 3 = ; =8
Find the modulus and argument of the complex number V2 (1 — ). FH2=S
Lxpress this complex number in polar form.

a. Show that 6+4=10
, o, g (b
(@+ i)+ (a—i " =2(a? + H%)* cos (n tan™! (:))
¢
- - i : i
b. Express the complex number (m) ina -+ ih form.
a. Find the complex number Ot4=10
zitarg(z -+ 20) = /4 and arg(z — 2i) = 3n /4.
+ i 1 5 . .
b. If x +iy=—find x?+y°.
8 arih i
a. It a complex number z = (1 + i), then find i
" i s A 2isin0Y . A+6=10
b. Find the value of ¢ tor which the complex number (— 15
1-2tsm0
purcly imaginary.
a. Find the square root of the complex numbers —4 — 3. 0-+4=10
b. Find the Laplace transform of (i) x™ (i) e ™

1l
i
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